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" Draw a trapezoid JKLM with JK | LM. Match the pair of segments
or angles with the term, which describes them in trapezoid JKLM.
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Find the angle measures of ABCD.
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The midsegment of the trapezoid is RT. Find the value of x.
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Find t eg othe sides to the nearest redth
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Quadrilateral ABCD is a trapezoid with midsegment EF. Use the given
information to answer the following. 37 ~
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If EF = 13 and DC = 6, then AB =
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Properties of Trapezoids A trapezoid is a quadrilateral with
exactly one pair of parallel sides. The parallel sides are called bases
and the nonparallel sides are called legs. If the legs are congruent,

the trapezoid is an isosceles trapezoid. In an isosceles trapezoid — s Y
both pairs of base angles are congruent. STUR s an isosceles rapezoid.
SA=TU,cR=41,48=
LT
The vertices of ABCD are A(~3, ~1)}, B(—1, 3), ]
(2, 3), and D4, —1). Verify that ABCD is a trapezoid.
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Exactly two sides are parallel, AD and BC, so ABCD is a trapezoid. AB = CD, so ABCD is
an isosceles trapezoid.

Determine whether ABCD is a trapezoid. If so, determine whether it is an isosceles
trapezoid. Show your work to justify your answer.

1. A(—-1,1),B(2,1),C3, -2), and D(2, —2) 2. A(3, —3), B(—-3, —3),C(-2, 3), and X2, 3)
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Determine whether EFGH is a kite. E(1,3), F(5.0), 6(1,-6), and H(-3, 0). Show your
work to justify your answer. i s
3. Verify that EFGH is a kite. f i
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